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1. The number of moles present in 6 g of 1. 6 UMM HT1aT | Hidl b G- -1

carbon is: gt
(A) 2 (B) 0.5 (A) 2 (B) 0.5
Q5 (D) 1 Q)5 (D) 1
2. Which of the following has highest IE;? 2. sﬂﬁl'ﬁ fh T [E; HIH ey 3ifws
gII?
(A) N (B) C (A) N (B) C
(@)O) (D)Na (G)NO) (D)Na
3. Which of the following weighs the most? | 3. FrafaRed 7 ¥ fousT somE wailtd
BRI
(A) One g — atom of nitrogen (A) ?IE@TYFT DT Udh YTH- UHIT]
(B) One mole of water (B) Uh Hid o
(C) One mole Na © Wrﬁﬁ Na
(D) One molecule of H,SO4 (D) H2SO4 T U 3]

4. An organic compound contains carbon, | 4. WWW CARE ,6I$§\I\r|-|
hydrogen and oxygen. Its elemental JUT ST I R 917 | 39&
analysis gave C, 38.71% and H, 9.67%. Il & fa=evor § H1e 38.71% T
The empirical formula of the compound 613@37[ 9.67% U BT B EREal
would be: H\T'Iﬁql?ﬁﬂﬁﬁﬁ"'ﬂ
(A) CHO (B) CH4O (A) CHO (B) CH4O
(C) CH50 (D) CH,O (C) CH50 (D) CH,O




5. Which of the following contains same
number of carbon atoms as are in 6.0 g
of carbon (C-12)?

(A) 6.0 g Ethane
(B) 8.0 g Methane
(C) 21.0 g Propane
(D) 28.0g CO

6. What will be the molality of the solution
containing 18.25 g of HCl gas in 500 g
of water?
(A)0.Tm
(©)05m

(B) Tm
(D) 0.1 m

7. What will be the molarity of a
solution that contains 5.85 g of
NaCl(s) per 500 mL?

(A) 4 mol/L
(C) 0.2 mol/L

(B) 20 mol/L
(D) 2 mol/L

8. Number of protons, neutrons and
electrons in the element gX*' is:
(A) 89, 89, 242
(B) 89, 142, 89
(C) 89, 71, 89
(D) 89, 231, 89

9. Atoms with same mass number but
different atomic numbers are called:

(B) isobars
(D) None of these

(A) isotopes
(C) isochores

5. fFafafed 3 9 fooed S wamgsi
DT> 6 g HIEA (C -12) H IufRyd
DHIa RATULSH DT TSAT & TSR
gIi?

(A) 6.0 g T
(B) 8.0 g AYF
(C) 21.0 g UIUA
(D) 28.0 g CO

6. 39 faaa &1 Arddar I1d Hifere
S 8.25 g HCI 9 500 g o1

qall 57
(A)0.1m B)1m
(C)0.5m (D)1m

7. NaCl & 500 ml STeitd fa@a &t
AITRAT 1d PIoTE f5 5.85 g NaCl &1
S Dt gai /T H fHare) urd fear

T 87
(A) 4 mol/L (B) 20 mol/L
(©) 0.2 mol/L (D) 2 mol/L

8. Tl dcd gox?*' | Hlel, geid ud
SAdCI B U g:-
(A) 89, 89, 242
(B) 89, 142, 89
(C) 89, 71, 89
(D) 89, 231, 89

9. 9 GRATY] fSP! STHT HAT T

qgﬂmﬁwﬁﬁ@?ﬁ%m
(A)ﬂmrrﬁw (B) THRITH®
(C) THTETd (D) ITH A BIS g




10. The similar physical and chemical
properties of elements in the same
group is due to the reason:

(A) they have same no of electrons

(B) they have same no of protons

(C) they have same no of valence
electrons

(D) they are extracted by similar
processes

11.Halogens are present in:
(A) p block (B) s block
(C) d block (D) f block

12. The magnetic quantum number
specifies
(A) Size of orbitals
(B) Shape of orbitals
(C) Orientation of orbitals
(D) Nuclear Stability

13. Which one of the following sets of ions
represents a collection of isoelectronic
species? (Atomic nos.: F =9, Cl = 17,
Na =11, Mg =12 Al =13,K=19 Ca
= 20, Sc = 21)

(A) K", Ca*™*, S, CI”
(B) Na*, Ca®", Sc**, F-
(C) K*, CI', Mg?*, S¢**
(D) Na*, Mg®*, AP*, CI

14.The electrons of the same orbitals can
be distinguished by
(A) Principal quantum number
(B) Azimuthal quantum number
(C) Spin quantum number
(D) Magnetic quantum number

10. fordht g & T Hifd® SR
AT 0T a1 dcd UTT STTd &
Fifp -

(A)?zglﬁ SAdS I DI H-HT FHH il

|
(B)éﬁﬁtﬁ‘cﬁ:ﬁﬁﬂwwa—cﬁ
|

(D) A T ufbarall § Fspfiq fu
S Bl

11. A SURIT &
(A) p-UHe (B) s-HHg
(C) d-UHg (D) f-9Hg

12. GBI Héfdh BicH J-HT Jfad
W%:

(A) STBIY BT 3MHR
(B) SUBIRI BT JHTPHfd
(C) IUPI &I FAfGHT siffo=ar
(D) ATY® BT VTG

13. T8 Y ®IF T I MZHZAT b
WIS &I FRefUd FHRaT g2 (dRHTY]
BT F=9,Cl = 17, Na = 11, Mg =
12,Al = 13,K = 19, Ca = 20, Sc =
21)

(A) K*, Ca®*, S, CI”
(B) Na*, Ca®", S, F~
(C) K*, CI', Mg?*, Sc**
(D) Na*, Mg®*, AP*, CI

14, GHME HE&P & gaide H fad0g o
W%
(A)TH HicH AT
(B) fevieita wicH Tam
(C) DI D& HicH T-AT
(D) SAIdC UTeh Ul HicH IS




15. A body of mass 10 mg is moving with a

16.

17.

18.

19.

velocity of 100 ms™'. The wavelength of
de-Broglie wave associated with it
would be (Note: h = 6.63 x 10734 Js)

(A) 6.63 x 107" m

(B) 6.63 x 103 m

(C) 6.63 x 107" m

(D) 6.63 x 10 m

Which of the following determines the
atomic number of an atom?
(A)Number of electrons.

(B)Number of protons.

(C)Number of electrons and protons.
(D)Number of protons and neutrons.

Number of unpaired electrons in N**:
(A) 3 (B) 1
@2 (D)0

A vessel of 120 mL capacity contains a
certain amount of gas at 35 °C and 1.2
bar pressure. The gas is transferred to
another vessel of volume 180 mL at 35
°C. What would be its pressure?

(A) 0.8 bar (B) 0.6 bar
(O)1.2 bar (D) 0.9 bar

The law, which states that at constant
temperature, the volume of a given
mass of gas is inversely proportional to
the pressure, is known as:

(A) Boyle's law

(B) Charle’s law

(C) Combined gas law

(D) Avogadro's law

15. g a%] SRIHT FTHH 10 mg 7,
100 m/s &t 7T § =A@ g1 axg
ST T T BT HM BRI -

(A) 6.63 x 103" m
(B) 6.63 x 10>* m
(€)6.63 x 10°" m
(D) 6.63 x 10°° m

16. 370 ¥ DI farat URATY] H TRHTY]

T B e HRAT B ?

(A) 3ATTI B T

(B) UTeHI &t TRa

(C) SATCTH qUT MeIT Bt TS

(D) TN qUT YS! P A

17. N?* T 3T SqaCi-] & I &
(A) 3 B)1
(@ (D)0

18. 35°C dIU dYT 1.2 bar &ld UX 120 mL

TR aTet Ut H TG &1 FRfErd A

Y3 ®1 3 35°C R AT BT 180 mL

TR aTel TeRes § IR foar
SIAT 8 ot 3% 1 16 ol g2

(A) 0.8 bar (B) 0.6 bar
(©) 1.2 bar (D) 0.9 bar

19, "fRR A9 W 9 & Ff3d A &1
aTe I 3 b GehHUTal

g1 8 7, I8 S A R 8 2




20. An ideal gas is one which obeys the
gas laws under:
(A) a few selected experimental
conditions
(B) all experimental conditions
(C) low pressure alone
(D) high temperature alone
21. The total pressure of a mixture of two
gases is :
(A) the sum of the partial pressures of
gases
(B) the difference between the partial
pressures of gases
(C) the product of the partial pressures
of gases
(D) the ratio of the partial pressures
of gases

22.4.4g of a gas at STP occupies a volume
of 2.24L, the gas can be:
(A) CO; (B) Oz
(C) CH4 (D) CO

23. The displacement of electrons in a
multiple bond in the presence of
attacking reagent is called
(A) Inductive effect
(B) Electromeric effect
(C) Resonance
(D) Hyperconjugation.

24. The reaction

(CH,),C-Br —"°>— (CH,),C—-OH
is:
(A) Elimination reaction
(B) Substitution reaction

(C) Free radical reaction
(D) Addition reaction

20. 3T 719 I8 § o g4t 719 Faat &7
T &l o
(A) P [a Uit sawish o
(B) G+ U srawuran #
(@ORGERACAR
(D) 3= d10 W

21. Tt it fismT & $d <19 SRR

EEIGE

(A) U T & 31 <a1d & AT
&P TR

(B) AP T & 3Hifp garg &
3R & RIR

(C) Ud® T & 3Hifr <ad &
oG & SRIER

(D) TP T & 3P garg &
3UTd & SRISR

22.22. STP R fFR T F 4.4 g F1
3T 2.24 | 1 T8 TN &
(A) CO; (B) Oz
(C) CHq (D) CO

23, ATHHUTBRY AfHHHD BT Iufufa &
g3 HIafdb Aife! # UeRid
BN ICES
(A) TRTOT® THTG
(B) TGRS UHTE
(C) 3fIATE gHTd
(D) g

24. fAgfafad sifvfemar

(CH,),C-Br —"°— (CH,),C-OH
RS
(A) fa@rg= sif¥fesan
(B) Ufd=iTa= 3ififdsar
(C) oI et ufaruTa= Sifferan
(D) T SifNfomar




25. The I.U.P.A.C. name of the following
compound is:

CH,;-CH=C~-CH,—CH,

(A) 3-Ethyl-2-hexene
(B) 3-Propyl-2-hexene
(C) 3-Propyl-3-hexene
(D) 4-Ethyl-4-hexene

26. Which of the following is an
electrophile?
(A) H,O
(B) NH3
(C) AlCI3
(D) CaHsNH;

27.Which element has the electronic
Configuration [Ar] 4s'3d"°?
(A) Cu (B) Co
O Cr (D) Fe

28.The correct order of carbocation
stability is:

(A) CH;" < CH3CH," <(CH5),CH" < (CH3)sC*

(B) CH3CH,"<(CH3),CH" < (CH3);C" < CH35"

(C) CH3"< CH3CH, "< (CH3)3C*<(CH3),CH"

(D) none of the above

29. The basis of modern periodic
classification is:
(A) atomic number
(B) mass number
(C) atomic weight
(D) no. of electrons

25 fFufeeg T ST IL.UPAC THT
CH,-CH=C—CH,—CH,

A)3-3 -2-sRIH
B)3-UTUTd -2-gaH
Q)3-UTgd -3 -y
D)4-3e -4 -gRIH

26. ZTH Y B SAGRI-RAT T8l & ?

(
(
(
(

A) HO
B) NHs
C) AlCl;
D) CoHsNH;

—_~ o~ o~ o~

27. 518 W ford da o1 Saae e fa=am
[Ar]4s'3d"° 87
(A) Cu (B) Co
(C) Cr (D) Fe

28 . BISYATIT &b RITRIT BT gt hH o

(A) CH3"< CH;3CH,"<(CH3),CH" < (CH5);C*
(B) CHgCH2+<(CH3)2CH+ < (CH3)3C+ < CH3+
(C) CH3;"< CH3CH, "< (CH3)3C*<(CH3),CH"

(D) 3TH A BIs gl

29, dcdl & 3HTdc GITHRUT BT SUR T -

A) TRHTY] TS

B) SodHH AT

C) URAY] YR

D) Saide I P IeA

~_~ o~ o~ o~




30. CH3 OCH35 and CH3CH,0H are:
(A) chain isomers
(B) position isomers
(C) functional isomers
(D) tautomers

31.The general electronic configuration of
alkali metals is:

(A) ns®
(B) ns'
(C) ns? np1
(D) ns’

32. Alkali metals react with oxygen or air to
give:
(A) acidic oxides
(B) basic oxides
(C) amphoteric oxides
(D) none of the above

33. The oxidation state of K in KO;:

(A) +4 (B) +2
(C) +1 (D) +1/2
34. Which colour is imparted to flame by
sodium?
(A) green (B) golden yellow

(C) golden brown (D) pink

35. Solvay's process is used to prepare :
(A) Sodium carbonate
(B) sodium chloride
(C) sodium sulphate
(D) sodium nitrate

30. CH; OCH; @YT CH3CH,OH &
(A) ST gHTTIT
(B) FUfq HTgga
(C) TohaTces Tig THIagd
(D) dATdyddr YHI9Ud

N

31. &R YIS BT FH Folag b
o= grm?
(A) ns®
(B) ns'
(C) ns? np1
(D) ns°

32. &R YT SIS 3y arg
3HfUTHT B T &

A) 3T 3GTSS

B) &R 35S

C) IHIYHT 3ffaarss

(
(
(
(D) 3T T B3 Tl

33, KO, H K BT HThR0T 3aRT g

(A) +4 (B) +2
C) +1 (D) +1/2
34.§mﬂﬁﬁﬁqmwmw
?
(A) B (B) TIeS Talt
(C) e S (D) T[cTalt

35, Tled UfhaT T ST ST 3 -
(A) TfSTH HEe
(B) TIfSTH FIRTSS
(C) qfsTH Ttbe
(D) HifsaH s




